NNLO+NNLL’ NNLO+NNLL

(NNPDF3.1) (NNPDF3.1)

my=173.3 GeV my=172.5GeV
x%/dof p-value x2/dof p-value

Aly|(t,t)

NNLO+agyy, NNLO+adyy, NNLO+a3,,
(LUXQED1?) (LUXQED1?) (NNPDF3.1)
m=1733GeV  m=1725GeV  my=1733GeV
x?/dof p-value x2?/dof p-value x%/dof p-value
14/6 0.026 12/6 0.071 10/6 0.115
14/6 0.027 12/6 0.070 10/6 0.122
9/10 0.510 7/10 0.694 6/10 0.787
5/10 0.912 5/10 0.877 3/10 0.990
18/6 0.006 17/6 0.008 14/6 0.030
9/10 0.548 8/10 0.666 4/10 0.937
22/7 0.003 17/7 0.015 16/7 0.024
6/8 0.687 6/8 0.667 2/8 0.971

17/6 0.010 14/6 0.032
13/6 0.047 11/6 0.098

16/7 0.029 11/7 0.126



